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Year 3 Multiplication and Division  
 

Q1.A pack of paper has 150 sheets. 

4 children each take 7 sheets. 

How many sheets of paper are left in the packet? 

 
2 marks 

 
 
 
 
 

Q2.Write the missing numbers. 

        150     −          =     87 
1 mark 

  

                90     ×          =     450 
1 mark 

 
 
 
 
 

Q3.Write the three missing numbers in this multiplication grid. 
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2 marks 

 
 
 
 
 

Q4.          Write one number from each circle to make this calculation correct. 

                    
1 mark 

  

 
 

  
 
 
 

Q5.          There are 5 balloons in a packet. 

          There are 18 packets in a box. 
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          How many balloons are there altogether in a box? 

  

 
  

 

1 mark 
 
 
 

          There are 5 balloons in a packet. 

 

          Kofi needs 65 balloons. 

          How many packets does he need? 

  

 
  

 

1 mark 

  

 
 

  
 
 
 

Q6.          The outside of this circle has 11 squares fitted around part of it. 
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          About how many squares could be fitted around the whole circle? 

          Tick ( )  the answer. 

               80           40           25           100          65 
1 mark 

  

 
 

  
 
 
 

Q7.          Write in the missing number. 

            ÷   5   =   22 
1 mark 

  

 
 

  
 
 
 

Q8.          Write what the missing numbers could be. 

     ×        = 150 
1 mark 
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Q9.          Write in the missing number. 

 

          8  ×   =  400 
1 mark 

  

 
 

  
 
 
 

Q10.          Jenny can walk 103 metres in 1 minute. 

 

          How far can she walk in 2 minutes? 
  

 
metres 

 

1 mark 
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